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102/BMS 1 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

,yq;if fzf;fPl;L njhopEl;gtpayhsu;fs; fofk; 

kl;lk; I - [dtup 2023 

(102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

 gupe;Jiuf;fg;gl;l tpilfs; 

 

(nkhj;jk; 40 Gs;spfs;) 
          
tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

1.1 (4)   

                    3 −
2

3
𝑥 = 1 

 

             2   =
2

3
𝑥                                  

                             X = 3 

           (03 Gs;spfs;) 

1.2 (4) 

 𝑆 = 𝑋(1 + 𝑟)𝑛  x= 20 000, n = 3,    r = 0.08     

 𝑆 = 20,000 × 1.083 

            S   = 25,194 

tl;b    = 25,194 – 20,000 = &. 5,194 
                                  (03 Gs;spfs;) 

1.3 (3)  

 

 

 

   
8

30
 

 
        (03 Gs;spfs;)  

gFjp A 

 

 

 

 

 



 

 

102/BMS 2 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.4 (1) 

 𝑃 =
𝑃1

𝑃0
× 100 

𝑃 =
1,000

1,200
× 100 = 83% 

         (03 Gs;spfs;) 
 

1.5  (1) 

𝑟 =
n ∑ xy −   ∑ x . ∑ y

√(n ∑ x2 −   (∑ x)2 ) (n ∑ y2 −   (∑ y)2 )

 

𝑟 =
8  X 160 –  44 X 30

√(8 ×  284 −  442 ) (8 ×  120 –  302 )
 

𝑟 =
−40

20,160
 

                                     = - 0.28 
 (03 Gs;spfs;) 

 

1.6 (2) 

L1 = 30.5, ∆1= 32 − 25 = 7   C = 10 

                           ∆2= 32 − 30 = 2 

𝑴𝒐 = 𝑳𝒊 + [
∆𝟏

∆𝟏 + ∆𝟐
] × 𝑪 

𝑀𝑜 = 30.5 + [
7

7 + 2
] × 10 

                            𝑴𝒐 = 𝟑𝟖. 𝟑 
 (03 Gs;spfs;) 
 

1.7 (2) 
 P(X < 3) = 0.35 + 0.30 = 𝟎. 𝟔𝟓 

                (03 Gs;spfs;) 

1.8 (2) 
                              Mz;L tpisT tl;b tPjk; (EAR) = (1 + r/N)N − 1           

                              Mz;L tpisT tl;b tPjk;  (EAR) = (1 + 0.12/2)2 − 1 = 12.36%       

             (03 Gs;spfs;) 

 

 



 

 

102/BMS 3 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

1.9 (2) 
                        S = X(1 + r/N)n×N                         x= 100,000,    n = 2,    r = 0.16,    N= 4 

            S = 100,000(1 + 0.16/4)2×4                       

                        𝐒 = &.136,857 (03 Gs;spfs;) 

1.10 (3) 

           Y = 𝟐, 𝟒𝟑𝟗. 𝟖𝟎 − 𝟏𝟒𝟓. 𝟒𝐗                         

    2023 ,w;fhd X ,d; ngWkjp 7 MFk; 

        T = 2,439.80 – 145.4 ×7 

     = 1,422 
                   (03 Gs;spfs;) 

1.11 

 A    (3) 
 B    (4) 
 C    (2) 
 D    (1) 

(01 Gs;sp tPjk;, 04 Gs;spfs;) 

1.12   

23 + 27 = 50  

Cu;jpfis itj;jpUf;Fk; epWtd Copau;fspd; vz;zpf;if 50 MFk;. 

                   (02 Gs;spfs;) 

1.13   𝐓𝐧 = 𝐚𝐫𝐧−𝟏        

             T12 = 3 × 212−1 = 6,144                    

             T12 = 3(2)11 =   𝟔, 𝟏𝟒𝟒 

 (02 Gs;spfs;) 

1.14   jtW                                                                                 

 (01 Gs;sp)                                                                                                                                                                      

1.15    rup                                                                                                         

(01 Gs;sp)   

(nkhj;jk; 40 Gs;spfs;) 

 

 gFjp A KbT 



 

 

102/BMS 4 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(nkhj;jk; 40 Gs;spfs;) 
 

tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

mj;jpahak; 01 - fzpjj;jpd; mbg;gil vz;zf;fUf;fs; 

 (a)     
2x + 3y =   0                       1 

3x + 4y =   5                       2 

             1   × 3 =  6x + 9y       =  0                          3 

             2   × 2 =  6x + 8y       =  10                        4 

             3   -     4        

                             y   = -10 

 

             1     2x + 3y =  0 

              2x + 3(-10) =  0 

                           2x   = 30 

                            x    = 15  

 (03 Gs;spfs;) 

(b)   
 A   B   C 

tpfpjk;    4 :  3 :  3 
 

gpd;dk ; 
4

10
  

3

10
  

3

10
 

 

(i) nkhj;j KjyPL   = 1,200,000×
10
3

 = &.  4,000,000 

  (02 Gs;spfs;) 

(ii) A ,d; KjyPL   = 4,000,000×
4

10
= &. 1,600,000 

 
my;yJ 
 

A ,d; KjyPL   =  1,200,000×
4
3

=&. 1,600,000 

  (02 Gs;spfs;) 

 

  

gFjp B 

 

 

 

 

 



 

 

102/BMS 5 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(c) Nfhtpl; 19 njhw;ww;Nwhu; tPjk;    = 30% 

Nfhtpl; 19 njhw;ww;w Copau;fspd; vz;zpf;if = 180  

Nfhtpl; 19 njhw;Ws;s Copau;fspd; vz;zpf;if= 180×
70
30

=  𝟒𝟐𝟎 
 

 (03 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 
 
tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak;  03 – tzpfj;jpd; epjprhu; nraw;ghl;L mstPLfs; 

(a)  

nkhj;jf; fpuar; rhu;G (TC)  = khWk; fpuak; + epiyahd fpuak; 
=  5q2 + 24q + 90,000  

   nkhj;jf; tUkhdr; rhu;G (TR)   = Nfs;tp × njhif 
                                                       = (39 + 5q) × q 

                                         =  39𝐪+ 𝟓𝐪𝟐 

 (04 Gs;spfs;) 
(b)        

vy;iyf; fpuar;rhu;G (MC) = 
𝐝 (𝐓𝐂)  

𝒅𝒒
 

 

                                  
d (TC)  

𝑑𝑞
   =   

d (5q2 + 24q + 90,000)  

𝑑𝑞
    

                                   MC    = 10q + 24 
                                        

 (02 Gs;spfs;) 

(c)  ,yhg el;lkw;w Gs;spapy; 

 TR = TC 

39q+ 5q2 = 5q2 + 24q + 90,000 

39q - 24q = 90,000 

           15q = 90,000 

 q  = 6,000 myFfs; 

,yhg el;lkw;w fzpak; = 6,000 myFfs; 

(04 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 
 
 
 



 

 

102/BMS 6 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak; 05 - ,uz;L mstPl;L khwpfis xg;gpLjy; 

 
(a)  ∑ X =42 ,   ∑ Y=4.57  ,   ∑ XY =27.65 ,   ∑ X2 =280,   n = 8                                              

x y xy x2 

3 0.41 1.23 9 

4 0.59 2.36 16 

1 0.18 0.18 1 

5 0.65 3.25 25 

4 0.57 2.28 16 

7 0.69 4.83 49 

10 0.84 8.4 100 

8 0.64 5.12 64 

42 4.57 27.65 280 

 

    b    =  
𝐧 ∑ 𝐗𝐘 −  ∑ 𝐗 ∑ 𝐘

𝐧 ∑ 𝐗𝟐 −  (∑ 𝐗)𝟐  

    b  = 
(8 × 27.65) –42 × 4.57

(8 × 280)−422  

     b  = 
 221.2 – 191.94

2,240 −1,764
 

     b  =  
29.26

476
 

     b =  0.0615 

    a   =    𝒀̅ − 𝒃𝑿̅ 

           =    
𝜀𝑦

 𝑛
− 

𝑏𝜀𝑥

𝑛
 

           =    
4.57

8
− [0.0615 ×

42

8
] 

           =   0.571 – (0.0615 × 5.25) 

           =   0.571– 0.323 

      a   =   0.25 

 
,opT tu;f;f gpw;nryTf; NfhL>  

       𝑌 = 𝑎 +  𝑏𝑥 

       𝒀 = 𝟎. 𝟐𝟓 +  𝟎. 𝟎𝟔𝒙   
 (07 Gs;spfs;) 



 

 

102/BMS 7 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(b)         kpd;dQ;ry;fs; jpwe;J ghu;f;fg;;gLk; NghJ x = 900 

Y = a + bx 

   Y = 0.25 + 0.06 x  900 

                                                                      1,000 

   = 0.25 + 0.06 X 0.9  

   = 0.25 + 0.054  

=  0.304 

 

vjpu;ghu;f;Fk; thbf;ifahsu;fspd; tpfpjk; = 0.3 

      (03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

mj;jpahak; 04 - juT toq;fYk; tpsf;f mstPLk; 

 

,ilntsp 
eLg;Gs;sp 

 (𝒙) 
𝒇 jpus; kPbwd; (C𝒇) 𝒇𝒙  𝒇x2 

30 - 39 34.5 13 13 448.5 15,473.25 

40 - 49 44.5 15 28 667.5 29,703.75 

50 - 59 54.5 22 50 1,199 65,345.50 

60 - 69 64.5 25 75 1,612.5 104,006.25 

70 - 79 
(,ila tFg;G) 74.5 35 110 2,607.5 194,258.75 

80 – 89 84.5 28 138 2,366 199,927.00 

90 - 99 94.5 22 160 2,079 196,465.50 

  160  10,980 805,180.00 

 

(a)      ,ilak; (Md) 

 
     𝑛

2
= 80 ,   ,ila tFg;G 69.5 – 79.5(70 – 79) 

L1 = 69.5   n = 160              Fc = 75           Fm  = 35         C = 79.5 – 69.5 = 10 

Md = L +
( 

𝑛
2 − 𝐹𝑐 )

𝑓𝑚
 × 𝑐 

                            Md = 69.5 +
(80−75 )

35
 × 10 

                            Md = 69.5 + 1.43 

  

                             𝐌𝐝 = 𝟕𝟎. 𝟗𝟑 
(03 Gs;spfs;) 



 

 

102/BMS 8 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(b)  

    ,il         =   ∑ 𝒇𝒙 
           ∑ 𝒇 

           =  10,980 

        160 

             =  68.625 
 

(03 Gs;spfs;) 

(c)  

epaktpyfy;           = √
∑ 𝒇𝒙𝟐

∑ 𝒇
−  𝒙 𝟐        

                                   = √
805,180    

160
− 68.6252        

                                   =√5,032.375–  4,709.391 

                                          = √322.984 

          =   17.97 

 

           (04 Gs;spfs;) 
(nkhj;jk;  10 Gs;spfs;) 

 

  

gFjp B KbT 



 

 

102/BMS 9 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(nkhj;jk; 20 Gs;spfs;) 
 
tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

(A)  

mj;jpahak; 02 – tzpfj;jpw;fhd epjpf;fzpjk; 

(a)     

A         = 
 SRn (R−1) 

Rn−1
 

             = 
700,000 ×(1+0.08)5 (1+0.08−1)

(1+0.08)5−1
 

             = 
82,282.3723

0.4693
 

             =  175,319.52 

khw;W Kiw 

                                  x[1 - (1+r)-n]                               A = 700,000,  n = 5,  r = 0. 08 
A        =                                  

      r  
 

 
          x[1 – 1.08-5]  

       700,000  =                   
    0.08 
  
                x     =   700,000 X 0.08   
          [1 – 1.08-5]     
  

                 X   =   175,319.52  
 
 Mz;Lj;jtiz &. 175,319.52 
 

(03 Gs;spfs;) 
 
 
 
 
 
 
 

  

gFjp c 

 

 

 

 

 



 

 

102/BMS 10 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(b)    

Mz;L njhlf;f 
epYitj; 
njhif 

tl;b @ 8% Kjy; 
kPs;nrYj;Jif 

tl;b Mz;bWjpapy; 
Kjy; 

1 700,000.00 56,000.00 19,319.52 175,319.52 580,680.48 

2 580,680.48 46,454.00 128,865.00 175,319.52 451,815.48 

3 451,815.48 36,145.00 139,174.52 175,319.52 312,640.96 

4 312,640.96 25,011.00 150,308.52 175,319.52 162,332.44 

5 162,332.44 12,986.59 162,332.00 175,319.52 - 

 
                                                              (03 Gs;spfs;) 

(B) 

mj;jpahak; 02 - tzpfj;jpw;fhd epjpf;fzpjk; 

(a)  

Mz;L 
fhRg;gha;r;ry; fopTf;fhuzp 

(12%) 
,w;iwg;ngWkjp 

(A) 
,w;iwg;ngWkjp 

(B) A B 

0 (100,000) (200,000) 1.000 (100,000) (200,000) 

1 60,000 103,000 0.893 53,580 91,979 

2 45,000 70,000 0.797 35,865 55,790 

3 40,000 50,000 0.712 28,480 35,600 

ep.,.ng    17,925 (16,631) 

 

nraw;wpl;lk; A ,d; epfu ,w;iwg;ngWkjp = + 17,925 

nraw;wpl;lk; B ,d; epfu ,w;iwg;ngWkjp = (16,631) 

 

khw;W Kiw 

Mz;L       0   1        2   3 
fhRg;gha;r;ry;    (100 000)          60 000    45 000           40 000 
 

ep.,.ng = fhR cl;gha;r;ry;fspd; ,.ng - fhR ntspg;gha;r;ry;fspd; ,.ng 

   𝑃𝑉 =
𝑋

(1+𝑟)𝑛  r =0.12  𝑃𝑉 =
𝑋

1.12𝑛 

  

      𝑁𝑃𝑉 =
60,000

1.121 +
45,000

1.122 +
 40,000

1.123 − 100,000 

 
      𝑁𝑃𝑉 = 117,916.36 – 500,000 
                       

  =  17,916.36 
 



 

 

102/BMS 11 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

Mz;L       0       1   2   3 
fhRg;gha;r;ry;    (200,000)  103,000         70,000                        50,000 
 

ep.,.ng = fhR cl;gha;r;ry;fspd; ,.ng - fhR ntspg;gha;r;ry;fspd; ,.ng 

   𝑃𝑉 =
𝑋

(1+𝑟)𝑛  r =0.12  𝑃𝑉 =
𝑋

1.12𝑛 

  

     𝑁𝑃𝑉 =
103,000

1.121 +
70,000

1.122 +
 50,000

1.123 − 200,000 

 
    𝑁𝑃𝑉 = 183,356.87 – 200,000 
                    
    = (16,643.13) 
                   (05 Gs;spfs;) 

(b)        

nraw;wpl;lk;  A nraw;wpl;lk; B 

KjyPL               100,000  200,000 

ep.,.ng   17,925                          (16,631) 
 
 

nraw;wpl;lk; A ,d; ep.,.ng. NeuhfTk; nraw;wpl;lk;  B ,d; ep.,.ng. kiwahfTk; 
fhzg;gLfpwJ. 

vdNt nraw;wpl;lk;  A rpwe;jJ. 
                                                              (02 Gs;spfs;) 

(C) 

mj;jpahak; 06 - epfo;jfTk; mjd; fzpg;gPLfSk;                                                                                                                         

A – khztu; vOj;Jg; guPl;irapy; rpj;jpailjy;  
B – khztu; nra;Kiwg; guPl;irapy; rpj;jpailjy;  

 
P(W) =1/2 P(P) = 1/3  P(WՈP) = 1/4 

  P(W/P)  -  khztu; xUtu; nra;Kiwg; guPl;irapy; rpj;jpaile;Js;shu; vdj; 
jug;gLkplj;J> mtu; vOj;Jg; guPl;irapy; rpj;jpailtjw;fhd epfo;jfT 

 

𝐏(𝐖/𝐏) =
𝐏(𝐖Ո𝐏)

𝐏(𝐏)
 

=
1/4

1/3
 

      = ¾ Or 0.75 

 
 (03 Gs;spfs;) 

 



 

 

102/BMS 12 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

(D) 

mj;jpahak; 06 - epfo;jfTk; mjd; fzpg;gPLfSk;                                                                                                                         

X : giltPuupd; cauk; (cm) 

 
µ= 170  σ = 5 

 

        𝑍 =
X  −  µ

σ 
                                    

                   𝑍 =
X  − 170

5
     

     X = 180 

                𝑍 =
180  − 170

5
     

                   𝑍 = + 𝟐 

 

     0.4772   
 
 
              0.5 – 0.4772 = 0.0228   
 
                                                                                       x     
                                              170 180   
  z 
    0         + 2 

 

 Pr(x > 180 ) = P (z>2) 

                                   = 0.5 - 0.4772 

                                   = 0.0228 or 2.28% 

 

 (04 Gs;spfs;) 
(nkhj;jk; 20 Gs;spfs;) 

 

 

 

 
 
 
 

gFjp C KbT 



 

 

102/BMS 13 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 

Notice:  
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 
especially for the benefit of those students who are engaged in self-studies. These are intended to 
assist them with the exploration of the relevant subject matter and further enhance their understanding 
as well as stay relevant in the art of answering questions at examination level. 
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